Ea, b IIHLT
f(6) = cos36 +acos20 + bcosb

L, 0<8<n CEBENEN

= L0510

ZEZ B,
(1) £(6) & g(f) & = = cos§ DEXTERE,

(2) g(O) B 0< <7 DEETERIMEO ZLB72DD a, b KDV TDOFREZRDX,
¥z, &2HZTR (o, b) DL HREZEETE LICERE X



(1)

£(6) = oS30 + (o286 +bCoSO
= 4ws3H -3c056+ B(2¢0S*8 — 1) +bcose

= 4> -3x+0(2X=1)+bX
= 43+ 20+ (b-3)L -0

AN I
for= 1+ oth 5

(6) = §o) - o)

-wse—\
3 2 o - )
= *7-0\7(—;(‘: bk W2 ) 31> R e RR.
(X y{4’+ (za+4)x+(i&1—b+ I)l]
o g3

= quirlaptaixranthtl

(2)  2:m# 90> BE M EHHTH3,
§(9)=412+ (z0+4) L+ 20+bt]
=4 Lt 280 Lotaped
=4 (1+ “*2 242 %) + 204 b+ |
= 4% y a;z L% (0‘4‘:2)1—(%1)2} + 20+ b+ |
= 4(x+ H2)_ 4x(“r)z+ 20 +b+ |

=4 (x+ ﬂ%—l— - (a;2)1+2a+b+,
=4(1+ Atz \2 K+ 4a+4-30-4b-4
4
a+2 82— 42 -4b
—= A+ =
4( =
bR
P E _at2 a-4a-ab \ .y
LRWAL §lo) o o B (-8 — = 8, ) 4

Ue) 12 Fedho W@ THIvE, JAATRI[BELS,
ZL, o<e<7tr') —1CWwsE <\ =l —1<A<L | ¢

IR EEA Z o F I

%300

——4<—Lc«+z)<4
4 > ht2>—-94
4-25Q5—4-2

27
—6<0<2 k%3,



th, PN AEO 3 as

W*-40-4b
Z =

f*-40n-4b=0
4b= 0= 4R

2
b=duw-n

_—_’%(a"—dfa)
- %‘- (040 +4-4)
=g AR ~2)=|
Lhorr o3 b 2ura FA4313

—6<0<2 0> b=g(p-2)-I

NN

It G.b) eI RT e TEH., Bhl Btk 12 /2750,




